|RA | P1 | P2 | T1 | T2 | T3 | T4 | T5 | T6 | T7 | T8 | T9 ‘MT‘ Faltas (08/junho) \

98s51(32 f | f | fFl a2 f]f] f]f o2 7
958313861 F | |2 [ ] f] fF] f] f|o1 2

[ ovoaaf o[ e[e[ele[e[e[ele[e[floof &8 |
106277| 2,173 [ | 2| f] e[ e[ ] £] 102 5
115945|3,7]79 f [ 2|2 |2 | 2| f[ ] f]| floa 4
1163133186 2 | fF |l 2| 2| f|l 2|22 1]08 7
116808/3,6[(92 1 [ 1 [ 2| f| f[2 [ 2] f]| 107 3
117712/48| s [ f [ 1| 2 | f | f[ 2 [ 2| f]| floa4 5
118276/ 73[99 1 [ f 2| 2|2 [ 2[2]2] flos8 0
118349(32(82| 1 | f | 2 | f| ¢ | e[ | f] f o2 3
1183735196 1 [ f 2 | 2| f[ [ 2] f] 106 3

| woo79f29fas[ F e[ f[afafa[r[afoa[ &8 |
121322| 1,709 f [ | f | f| f[ e[ ] f] f]oo0 2
1228221634 f | f]l 22| £l 22| ¢ 21]06 6
134759|69| s [ 1 [ f |l 22| 2f[2f2]2]12]09 1
134937(55(84| f | 1| 2| f| ¢l 2[2[2]12]07 4
135502| 24|82 1 [ f | f | f] f[ 22| f]| 104 7
13659408 f | ¢ f] fF] f| £ || ] f]o0 7
1369403757 1 [ f | f | f] 2| f[ 2] 2] 1]06 3
137200| 17|45 f [ 2| 2 2| ¢ 2| 2] f]21]07 7
139070|4,6[93| 1 [ f | f |l 2| 2|2 f]2]1]07 3

| 23esos| f [ f[ e[ f[F[fF[e[f[f[f]floo] 15 |
139639|3,6| s [ f [ 1| 2| f] f[2|[2]f]| 1]06 2
1406032242 | 2| 2| f| ¢l ¢l 2|2 21]06 4
140618/3,8[93| f [ f 2| f]l 2| 2[2]2]1]07 3
141470l 6 |82 f | | £l 2| 2|2l 2]2]12]07 4

141669 2 (11| f fl1]f f f f f f [0, 4
145580( 4,5] 7,8 1) ff1]1]1]11]1|09 5
1457741 8,858 f fl1]1]ff f f f f 0,2 6

14638912020 F] flol f]flF]f]F]FfJOO] 6 |

147349135951 1 (1| 1| f|1]1|1]1f1]09 3
147826(2,71 2 | f {1 | 1|1 f | f| f| f| f[O3 7
14806911246 f | 1] 1|1 1]1|1]1f1]09 3
148201|3,4(92 f | 1| f | f | f | f| f| f| 1 (0,2 4
148608|09(f19| f | f | f | 1| f]1|1] 1| 1]06 4

reprovados por falta

155642|3,9|72 1 [ f | £l 2] 2[2[2]2]1]08 2
15572127173 1 [ f 22|22 f] 2] 1]08 0
1567565763 1 [ f |l 22| 2[2f2]2]12]09 4
158144|5,8(55[ f | 1 | 1 flf]l 1| | 1]o04 5
159809|3,4[88| 1 [ 1| 2| 2| f[2[f] 2] 1]08 1




T1
T2
T3
T4
TS5
T8

ganho(ganho ideal)

ganho(f)

Zin Amp Op

osc. Ponte de wien

osc. Ponte de wien+potencibmetro
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